6R{TRFE(EHA]

STAGE? |

PRE - B3R

@ FELEE

n%/ﬁitl%ﬁﬁ_LLJ:j !

23 ot ?? % ﬁﬁﬁ%ﬂ E 33 [—]
H TE 5| % sl 7121314757615 THTE
[
1|8 : X
3
1 FIRIEHTAD
2 A 2 VIS
3
O W RE  1FRBAAG ' 9:00 (455312 3) 1 o2t |22 23] 24 [ 25] 2 FIEEHT A
3 | W |Oakwa O#ERE 2 Oofla2i |2 |24 ]2%]0 BRI
O~ AAN—Y— (K ELIRVIRD) 3 ol 222 2] 25] 2
REAL sc] 1 Ol [32]3]s3]s3s BfEkEE
4 [k 2 O 31| 32| 3| 34| 35 x %
3 o3[ 3233335
O R R 1 ol s el wal4] 4 BEREE
5 (XK 2 oflslalsw]ala]s]o T
3 olsi|w| sl a5
7 ! e O 51|52 5| 54]55] 56
6| Qm(bz)ﬁ? 15:25-16:05 2 O |51 | 52| 53| 54] 5] 56) O =]
3 O 5152 535 54| 55| 56
1 EPI0)
7 2 A
3
1 B®R-B7or—h~
8 (8 p o\
3
O FERIRERE 4500523 1 [ EAEA K HEBH (FHLH)
O | B|OfitkE RS (/-H) 2 NEIEE N K |HERES
OF AR HEifER~ s ————
O FERIRERE 45542 3 1 [ EAEE
10| W umﬁim“"( <) P | B | %5 | ® a PN
R ARRT T AT KK 3 NEBEIEE
T#‘%&’HT{CE 1 Ol [32]3]3]s3s BEX2BRHE
11| K 2 O[3 | 32| 35 [ 343 x % |FHEAR
3 o332 3] 34]35
O R 1 ol s Talawaal4] 4 IRHRA
12 | K|OtitkE KL () 2 S A EE s ke +
3 oflsi|w| sl a5
O R ATL O 51| 52] 53] 54]55] 56 [CETYZS
13| & |OmikE R (M) 2 O 51|52 53|54 55]56]0 =]
3 O 51|52 535 54 | 55| 56
TRE RS 1 RS iﬂiﬁﬁ‘“
14 (-9 2 B |#FZE8% < 2b—1-0
3
1 BETUT—b~
15| 8 2 N |EhsE~
3
O RERIRERE 450012 3% 1 [ EA K HEMHKKRE
16| B |OmikE ks (578) 2 REEAE a 7K
3 x| BB 8
O WJMi 15”%%* 1 N E K 77—
17| W |OmiRE RE (1) 2 | B | % | % N PN
”>+é’jzb;ﬂ~ T TAT R 3 [ EA KR
O R 1 Ol [32]3]3]ss REEFBH2O
18| K |OF A &t sh~ 2 Oofsr|32]33]34]3s x £
3 o332 3] 3]35
Lo iR 1 ol 2228 2a25] 26 [CE7YN
19| K OP\J?FH/\LHQZ*F 2 ol 2i| 2|2 |2a|25|2%6] 0 Ei
3 ol 2| 22324 25| 2
[EEEAETE 1 O 51| 52] 53] 54f55]56
20| & 2 Ofs5i|52|53]|54|55][5] 0 =]
3 O 51525354 55]56
TRBERS 1 BOH
21| L [ fm) 2 A
3
[ REEBHRQ
228 2 P
3
j 12 R 1 ol 2] w]u]is]ie REEBHR=Q
23| BlowEa 2 ol 23l 5[1e] x 7K
”‘“?F‘?’FF:"Q 3 ol 2]l i5]Ts
; 1 Ol 2|22 23] 24f25] 2 REFBHROD
2 o2 228 2a|25[26] 0 N
3 ol 222324 25] 2
sc] [} IENEAERIEAES BERKHE
2 o1 ]32]3]|3a]35 x & |eh&%Es
3 o332 33|35
O 1 Ol 41| 42|43 ] 4445 46
26| KO~ AAF—Y— (4% HAZ) 2 Ofwu|a]a3]aa]as]a6] T
3 olsilwwlu] 5] s
WREE AT AT o552 5354 55] 56
27| & 2 Ofsr |52 53] 54a]55]56] =]
3 O 51|52 53] 54]55]56
1 HE{A¥~8/26
28|t 2 A
3
1
29| d P W
3
WRE AT 1 of |12 13]14]15] 16
30| B 0% E W= 2 ol 235 [16e] x 7k
3 ol 23 s 5] 16
X

XREIZTONT

BETERKIFZIIOM=1700 AM=4FEFB_LICHER xEN=F4L]

SMERIALT =4} EIEE

FEBF SC=RV—ILAIrt5—]




